Pressure Seal solutions Lid
incorporating IDRF§ _—

() MF3000D

Technical Manual

Pressure sealer

This manual provides detailed information on how to operate and
maintain your Mailfinisher 3000D.

Please read this manual before operating the machine in order to prevent
any damage caused by improper handling.

Rev. 11-06-20



Introduction

Thank you for your purshase.

Copyright

Any of the contents should not be copied, re-printed or translated by other
languages without Welltec System'’s approval.

MF3000D is the registered trademark of Welltec System



1. MF3000D specification = ------=---mmmmm comme e 4

2. Identifying the parts = ----------mmmmmmm e 5~6
3. Unpack the package @ --------mmmmmmmmmme s 7

4. How to install the fold plate @~  ---------eemmmmmmmee 8

5. How to adjust the fold plate @~  ----------mmmmmmmmoeeeee 9

6. How to install the guide @ = ------eeemmmmmmmeeeeee 10-12
7. OP Guide = = = =-memmemmeeeemeeeeeeeeeeeeeece e 13-15
8. Manual Feeding =~ --------mmmmmmmmmme e 16

9. Paper jam removal = ---mmeeemmmmmeee e 17
10. Handling the error messages ----------m-mmmmmmmmmm oo 18
11. Repairing and Replacement =~  --------emmmmmmmmme s 19
12. Maintenance = = = mmmmmemmmmeeeeeeeeeeeee e 25



OFFICEMATE 3D Features

MF 3000D Features (Pressure Sealer)

MF 3000D Specification




L B g
)

© = S
o — © )

= a o A
m ~ ol o o Ny
= - @) ~ s o
“ A = O =
= 2 @ nnd %) 5
c 2 o

= 3
r.m + +— =
S o = 5 = =
c =2 2 & 5 %
ﬁ% = o} g -
—  » m @) - %
@
N O = 2 O
S 4 © = A
o 0 o B ©
OM dm
F M



[Front View]



Unpack the package

Contents

Please check the following parts are included in the box.

Power cable, 15T Fold Cassette, 2" Fold Cassette, Output stacker User manual

[Unpack the Box]

[1st, 2nd Fold Cassette[

*Caution

Power connection : Please refer to the
label for electric information which is
located at the back of the machine. Ifit

is not working properly, please contact
your local dealer for service.



How to install the Folding Cassette

[Pic 3 : Adjust 15t Cassette] [Pic 4 : Adjust 2nd Cassette]



Folding Cassette Setting Guide

Folding Cassette Setting Guide

A4 Letter Legal Custom
Fimn _d._mm _ . Inch mm Inch mm Inch

SO\ | tst | 99 [389| 93 | 366 [1186| 467 | 333%
Z-Fold X\ = 2-nd 99 [1389 | 93 | 3.66 | 1186 | 4.67 33.3%

| tst [ 99| 389 | - ~ | 137 | 5.39 33.3%
Uneven Z Fold~==| 2.nd | 102 | 401 | - ~ | 140 | 551 34.3%

e 1-st | 148.5| 585 | 139.5| 549 | 178 | 7.0 50.0%
Single Fold \3-:‘. - 2-nd Insert the cassette in the opposite direction

N 1-st 198 | 7.8 | 186 | 7.32 | 237.2| 9.34 66.6%
C-Fold 2| 2na | 99 | 389 93 | 266 |1186] 467 | 33.3%

How to set “Z-Fold”

Swivel the Knob to counter clockwise and move on 99mm.
Swivel the Knob to clockwise to tight and hold the position.
2nd Cassette is same as 1st Cassette.

I Attention : “C-Fold” is need to use 270mm Cassette(Pic. 3)

[Pic.1 : Standard 1st Cassette] [Pic. 2 : Standard 2nd [Pic. 3 : Option — 270mm
Cassette] Cassette]

_9-



-nstall the feed guide
GUIDE

How to assemble the guide

IS MATCH THE 4-HOLES OF THE MANUAL

FEED GUIDE USE THE SCREWS PROVIDED
TO SECURE THE 2 PARTS TOGEATHER

FIX THE TWO PARTS WITH 4-M3 SCREWS.

FIX WITH THE 2-M4 SCREWS. (BOTH SIDE)

- 10 -



Install the guide

How to assemble the guide

Fit the Guide to the Rear
Cover.

Match the four holes and fix the
Guide and Rear Cover with M3-
Screws.

- 11 -



Install the guide plate OKI Printer compatible only

How to assemble the printer connection Plate OKI Printer ONLY

1)Fit the three holes.

5) Assemble the stud with M4

SCrew.

2) Fix with 3-M4 screws.

Middle
Plate.

4) Fix with 2-M4 knobs.

2) Fix with 3-M4 screws.

Connection Plate-

3) Fit the two holes on the each
| side.

Connection Plate-

1 SN

Printer
4) Fix with 2-M4 Motntbase

| [
RITUUS.

*Fit the three holes of the connection plate.

There are two kinds connection plate. Please keep notice the assembling direction.
Fix the plate with M4 screws. (6-screws are needed)

«Put the Printer Mountbase on the bottom properly and fit the holes.

Please check the holes location for the kinds of paper (A4/Letter or Legal).

Fix the printer Mountbase and Connection plate with M4 Knobs.

«Put the stud into the D-cut hole and fix it with M4 screw.

-12 -



OP panel Guide-1




OP Panel Guide-2

- 14 -



OP Panel Guide-3

- 15 -



OP panel Guide -4

<«—— [Paper thickness]

<«— [Working
count]

[Ready state] [Work state]

[Count setting] [Batch set]

- 16 -



Engineer Mode Guide




Manual Feed




Paper Jam Removal

Paper Jam Removal

The paper jam that is occurred in the MF 3000D can be removed very easily.

The machine is stopped automatically when the paper jam is occurred. And the paper
jam can be removed by using the jam removal tool.

jocking Knobs.

[Open the top cover by un-locking the
locking knob.]

[Remove the jam by using the jam removal tool] [Insert the tool into the hole on the press
roller and rotate the press roller by hand]

I CAUTION : Please keep the jam removal tool to right position after removing the jam.

- 19 -



Handling the error messages

Handling the error messages.

Paper
Siptus  Thicknass Giatus  Thicknass

Double Feed

Feed Jam

Working
Count

[Detect double feed & [Open the cover and

feed jam] remove the jam]

Paper 15t CST

otatus  Thickness
= CST
Open

Working
Count

[1st Cassette Error]

2nd CST
Paper
Siptus  Thicknass

2nd CST

Open

Working
Cont

nd E
[2nd Cassette Error] [Check 2nd Cassette]

- 20 -



Repairing and Replacement

=21 -



Repairing and Replacement

(2) : Upper Cover (1):Roller Cover

(3) : Bearing

=22 -



(4): Clutch

-+
C
)
S
0}
O

©
o
)

o

©
C
©
(@)
C

=
©
o
)

o

(5) Feed Roller Assy

(2): Bearing

- 23 -



-+
c
)
-
)
O

)
o
Q

o’

o
c
©
@)
-

=
qV)
Q.
O

o’

(2) Silicon O Ring

(1) Pulley : O
Ring

- 24 -



Repairing and Replacement

(3) Fold Roller BKT

Remove the screw

Remove the screw

(5) Pulley

(3) Fold Roller BKT

(4)Timing belt




+—
c
()
&
()
O
L,
o
)
o
O
c
(4]
(@))]
C
=
©
o
()
o

(6)Main Fold
Roller

- 26 -



5. Maintenance

Operator Maintenance

Due to the pressure seal forms leaving paper dust, ink and toner residues, it is very
important to occasionally clean the surface of the each roller to ensure optimum
performance.

In case of fold roller, remove 1%t folding cassette and separate roller cover.
Clean ink and toner residues on the folding roller with this soft cloth wet through alcohol.

*Caution : Do not use oil as this will damage the surface of the folding roller.

Infeed
Sensor

Outfeed

.

e'
;'
)

[remove the forms] [clean the sensor]

-27 -



[UPFS

Priniing & Folding Solutions



